7HE0HE HEo[EE S5t = M2 AHlE7 R4

g

M A7 |RA-E HASYCHH] 9.3% 74

| My B
- HES ] -9.3% = £04¢2] 7|o1= +0.6%p + =2f-2AHY | 7101 -9.9%p

8 A7 RIof HUas SH-SAEUS Haol 712!

(1 YEE 7IoA== 2 UFE 7|odg x 2817 1R
% 21 e 2ol Jloje’ 3H7)

— o=

A= drH| A0HY] 0.9% S7}, &4E-2AI%9] 24,20 7+

>

Lo =2 - -1 £nS
- 2HIADH OfE0| & FOo 2 JUISH ARSI oLt SA R F0| S oMU AR Hete|D, of8- MG
Al SUADHYL| LHEFO| AR |HA ADHY AHPEZ 2|92 R 522 HEELt £0l5
- 8 AHIZT YT FHEA, 7HIAMIEHESAL 7EP YRS 5
AHZ Z0 of
O L=

[}
S
1
~
o
S 5
K 80- -0 =
<F || | ==
<0 X
Y -2.6% -2.3% ~
-5.9%
-9.3% ° AN
60- -14.7% -220
20.0% m HAZSE|
= . o
(HEsgHl= S8 71EY
204038 2084042 204058 @ 20806€ 204078 204082
Qo log | A O AHIO (o3 ] A
| A AT 27|24 | | Mg S4ESAVHR] A IR |
120- LT -20 120- -20
8 S
\a [Ral \ ra
s i = i
s o s 73.0 765 885 870 956 819 an
S 100- 0 o S 100 = et e i = 0 o
=z = I =
hin 2 hin S
<0 o < <0 ~
R0 7.2% RO
12.2%
. ~ . | || -16.2% L
80 20 80 19.0% 20
26.0% -24.2%
-32.0%
60- --40 60- --40
204038 204048 204058 202068 208072 204082 208032 204042 204068 204068 202072 208082

©® ZY=Al W HEsE| (IS SR0) ©® ZY+X| HaseH| (RIS SRR



